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1.1. ISt,R =2A

1.2. ISt,L = 4 A

13. =l -+ g2 1= 11| =7,21A
1.4. Sges=P +jQ = (1,38 +4,8) kVA = 5 KVA -e
1.5.S'es| =3 I's- Uy =3 Uy%/|Z| > 12]=31,74Q0> 2=31,74Q ¢
2.1. UG/UZ = Rs/(RG +R3+ R4| |R5) = 3/8

2.2. UZ/Uq = Rers/(Rl + Rers) = 4/9 mit Rers = R2| |(R6 +Rs3 + R4| |R5); U6/Uq =3/18,Ug=8V
2.3.13 = Ug/Re = 26,67 mA, Uy = 21,33V, I, = 106,65 mA, I = I, + I3 = 133,32 mA

2.4.Ugers = Us =8V, Ri=300Q | | (160 Q + 340 Q + 100 Q) = 200 O

2.5.Ry = Ri = 200 Q, Prnax = Ugers /(4R}) = 80 mW

3.1.@(t) = B-A(t) = B-a-v:t=t- 0,3 V; im Zeitintervall Os <t < 1sistu(t) = 0,3V
3.2.1s<t<2s2u(t)=0V; 2s<t<3s 2u(t) =-0,3V;3s<t<4s 2uft)=0V

3.3.Pmax = Umax’/ (R+R) =9 mW

3.4.Fnhax=1-a-B=0,018 N

4.1.C=250nF

4.2.t= (R1| |R2) ‘C=0,2ms, Ucmax = Uq . Rz/(Rl + Rz) =40V

4.3.i(0,1 ms) =50 mA, ic(e2) =0 mA, ir2(0 ms) = 10 mA, ir2(0,1 ms) =0 mA, irz(ee) = 10 mA
4.4.uc(2 Tage) =30V > 15=6-10"s

4.5.15=Rs- C > Rs = 2,4-10"° Q

4.6.Rs=d/ (k-A) > k=4,43-10"° S/m

ia (mit P =3 Isr - Uy, Q=3 st - Ua)
j74°



